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QUESTION 1

Which operational mode command would you use to verify the presence of VPN routes on a PE device? 

A. show route table bgp.l3vpn.0 

B. show route protocol bgp terse | count 

C. show route table inet.0 

D. show route route-type vpn 

Correct Answer: A 

 

QUESTION 2

R0 is a Juniper Networks MX router with dual Routing Engines. You must load new software on R0 while ensuring no
control plane disruption and minimal data loss. 

Which three features meet the requirement? (Choose three.) 

A. graceful restart 

B. NSR 

C. graceful Routing-Engine switchover (GRES) 

D. unified ISSU 

E. BFD 

Correct Answer: BCD 

 

QUESTION 3

Click the exhibit. 
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Referring to the exhibit, which configuration must be set on R2 to from a Level 1 IS-IS adjacency with R1? 

A. Set interfaces lo0 unit 0 family iso address 49.0001.3415.0010.0250.0000.0046.00 

B. Set interfaces lo0 unit 0 family iso address 49.0002.3414.0010.0250.0000.0046.00 

C. Set interfaces lo0 unit 0 family iso address 49.0002.3415.0010.0250.0000.0046.00 
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D. Set interfaces lo0 unit 0 family iso address 49.0001.3414.0010.0250.0000.0046.00 

Correct Answer: A 

 

QUESTION 4

In an RSVP-based MPLS network, which ERO type specifies the exact order of routers through which an LSP must
travel, without consulting the IGP? 

A. loose hop 

B. static hop 

C. next hop 

D. strict hop 

Correct Answer: D 

When a strict hop is configured, it identifies an exact path through which the LSP must be routed. Strict-hop EROs
(Explicit Route Objects) specify the exact order of the routers through which the RSVP messages are sent. 

Incorrect Answers: 

A: When a loose hop is configured, it identifies one or more transit LSRs through which the LSP must be routed. 

The network IGP determines the exact route from the inbound router to the first loose hop, or from one loose hop to the
next. 

The loose hop specifies only that a particular LSR be included in the LSP. 

References: https://forums.juniper.net/t5/Routing/loose-and-strict-option/td-p/164626 

 

QUESTION 5

Your OSPF network is currently operating with a single backbone area and you are concerned with the scalability of
your design. Which network design is a best practice for providing the scalability you desire? 

A. Eliminate all designated routers 

B. Implement areas in your network 

C. Reduce the database refresh timer value 

D. Allow each device to perform ASBR duties 

Correct Answer: B 

 

QUESTION 6

You have an OSPF network. On certain applications and links, you need OSPF recovery to be faster than can be
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provided by OSPF timers. Which protocol would meet this requirement? 

A. BFD 

B. OSPFv3 

C. GRES 

D. NSR 

Correct Answer: A 

Bidirectional Forwarding Detection (BFD) accomplishes this task for a number of protocols, including OSPF. 

 

QUESTION 7

Which command is used to configure an IRB interface? 

A. set family inet interface irb unit 0 address 192.168.1.1/24 

B. set interface irb unit 0 family inet address 192.168.1.1/24 

C. set interface unit 0 family irb address 192.168.1.1/24 

D. set bridge-domain 0 interface irb address 192.168.1.1/24 

Correct Answer: B 

An IRB interface is configured similar to a physical Layer 3 interface, by specifying an interface type irb, a logical unit, a
protocol family, and an IP address (using CIDR notation). 

 

QUESTION 8

Click the Exhibit button 

When the Junos configuration shown in the exhibit is applied to the router, which routes in the forwarding table will begin
load-balancing packet flows? 

A. all routes in the forwarding table 

B. all OSPF routes in the forwarding table 
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C. all BGP routes in the forwarding table 

D. all RFC1918 routes in the forwarding table 

Correct Answer: D 

 

QUESTION 9

Which statement is true about routing instances on Junos devices? 

A. Routing information cannot be shared between routing instance. 

B. Each routing protocol runs in a separate routing instance. 

C. Junos device support only one routing instance. 

D. Each routing instance is a unique grouping of routing tables, interfaces, and routing protocol parameters. 

Correct Answer: D 

 

QUESTION 10

Which three statements are true regarding the show system switchover operational mode command? (Choose three.) 

A. This command can only be issued on the master Routing Engine. 

B. This command displays the status of graceful switchover. 

C. This command can only be issued on the backup Routing Engine. 

D. This command displays the status of the interface and process databases. 

E. This command displays the status of the kernel database. 

Correct Answer: BCE 

 

QUESTION 11

Which packet type does a Junos device use to request up-to-date link-state information? 

A. IIH 

B. LSP 

C. PSNP 

D. CSNP 

Correct Answer: C 

With IS-IS, a partial sequence number PDU (PSNP) performs a similar function as a Link State Request packet does in
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OSPF, which is to request link-state data. 

 

QUESTION 12

In an IS-IS network, Router A is the current DIS with a priority of 64. Router B comes online with a priority of 100. 

In this scenario, which statement is correct? 

A. Router A remains as the DIS. 

B. Router A remains the DIS and Router B becomes the backup DIS. 

C. Router B becomes the DIS. 

D. Router B becomes the DIS and router A becomes the backup DIS. 

Correct Answer: C 
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